Total No. of Printed Pages—4
2 SEM FYUGP BOTC2

2024
( May/June )

BOTANY
( Core )

Paper : BOTC2

( Morphology and Reproduction of Spermatophyte )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. ooe MuRaes wa Sed IR e : 1x5=5

Choose the correct answer of the following :
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In gymnosperms, the endosperm is
haploid / diploid / triploid / None of
these.

(b) FToF e Ry FoERS T/ I8 [/ A /
qBI8 72 |

Phylloclade is a modification of root /
stem / leaf / None of these.
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(2)
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The most highly evolved type of
inflorescence is hypanthodium / spadix /
capitulum / polychasial cyme.
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Maturation of stamens and pistils at
different times in the same flower is
called dichogamy / heterostyly /
dichotomy / heterospory.

le) Rfes (Romaw) afmm wiRkses
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The process of double fertilization (triple
fusion) was discovered by Nawaschin /

Strasburger / Leeuwenhoek /
Hofmeister.

2. o o= o (R @ sifRem) 4x4=16
Write short notes on (any foun :

(@) BRIMY F'c3eizs ey
Coralloid root of Cycas

(b) T I
Function of trichomes
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(A )

%<1/ Or
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~ Write explanatory notes on the following :

(a) 91 ROHPE o4FH
Types of placentation

(b) RN

Apomixis

5. 3o AN T 2T AR SO TKEE 90
CFPIEPTYR I 1 | AFoc 6T 29 ARIaICAIl T~
@RS 9F95 WM ? 10+3=13
Describe the different contrivances or

mechanisms to perform cross-pollination.
Why does nature prefer cross-pollination?

&</ Or
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What do you mean by megasporogenesis?
Describe the development of tetrasporic type
of embryo sacs with suitable examples. Draw
diagram wherever necessary.
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(3)

(0) & & 9FF
MGU (Male Germ Unit)

(d) *RIEAER [T 5o
Structure of anther wall

(e) RSN
Self-incompatibility

() ES Fom
Parthenocarpy

3. QY A9 AfFACH SCAD 41 | 7 SR IERE
T @R QR R 2 10+3=13

Discuss the process of fossilization. Why are
the fossil genera called as form genera’?
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¢ & Mg Aom wa® Sfem wRke bR 2
AR PR SCEAs 3547 | 10+3=13

In what aspect, Gnetum is more closer to
angiosperm? Discuss with suitable diagrams.

i
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What is an inflorescence? Give an account of

various Racemose inflorescence with
example.
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